
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

fyra decimaler, ordningsföljd

8 × 3, 2 ÷ 4 − 4, 9 = 4, 3 + 5, 8 + 6, 1 × 3, 1 =

3, 7 + 2, 3 + 4, 3 × 4 = 8 × 5, 9 ÷ 2 − 6, 3 =

4, 7 − 6, 5 × 4, 6 − 2, 8 = 3, 9 + 3, 5 + 2 × 2 =

4, 4 + 15 × 3, 1 ÷ 5 = 6 + 4, 2 × 2, 3 − 3, 1 =

5, 4 − 6, 9 × 2, 7 − 5, 2 = 4, 5 − 6 − 5, 6 × 5, 7 =

www.snowmath.com

https://www.snowmath.com


namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

fyra decimaler, ordningsföljd

8 × 3, 2 ÷ 4 − 4, 9 = 1.5 4, 3 + 5, 8 + 6, 1 × 3, 1 = 29.01

3, 7 + 2, 3 + 4, 3 × 4 = 23.2 8 × 5, 9 ÷ 2 − 6, 3 = 17.3

4, 7 − 6, 5 × 4, 6 − 2, 8 = −28 3, 9 + 3, 5 + 2 × 2 = 11.4

4, 4 + 15 × 3, 1 ÷ 5 = 13.7 6 + 4, 2 × 2, 3 − 3, 1 = 12.56

5, 4 − 6, 9 × 2, 7 − 5, 2 = −18.43 4, 5 − 6 − 5, 6 × 5, 7 = −33.42

www.snowmath.com

https://www.snowmath.com

